
BOLLETTINO UNIONE MATEMATICA ITALIANA

A. MAKOWSKI

Remarks on triangular and tetrahedral numbers.

Bollettino dell'Unione Matematica Italiana, Serie 3, Vol. 17
(1962), n.1, p. 20–21.

Zanichelli

<http://www.bdim.eu/item?id=BUMI_1962_3_17_1_20_0>

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

Remarks on triangular and tetrahedral numbers

by A. MAKOWSKI (Warsaw) (*)

M. SATYANARAYANA proved in [4] that no triangular number > 1 is of the form $2^{k-1} - 1$ and that 3 is the only triangular number of the form $2^k + 1$. G. BROWKIN and A. SCHIZEL proved in [1] that all triangular numbers of the form $2^k - 1$ are $2^1 - 1$, $2^2 - 1$, $2^4 - 1$ and $2^{12} - 1$. The equivalent result was established earlier by T. NAGELL [2] see also [3].

We prove here three following theorems.

I. If p is an odd prime number, then the only triangular numbers of the form $p^k + 1$ are $5^1 + 1$, $3^2 + 1$ and $3^3 + 1$.

II. The only tetrahedral number of the form $2^k - 1$ is 1.

III. There is no tetrahedral number of the form $2^k + 1$.

PROOF OF 1. - Let

$$\frac{n}{2}(n+1) = p^k + 1.$$

Then

$$n^2 + n - 2 = 2 \cdot p^k, \quad (n-1)(n+2) = 2 \cdot p^k, \quad n+2 \geq 3$$

and $n-1$, $n+2$ are neither both even, nor both odd. Thus, if

$$p \neq 3, \quad (n-1, n+2) = (n-1, 3) = 1$$

and $n-1=2$, $n=3$. Hence we get the triangular number $6=5^1+1$.
If $p=3$, then

$$n-1=3^a, \quad n+2=2 \cdot 3^b \quad \text{or} \quad n-1=2 \cdot 3^a, \quad n+2=3^b.$$

In the first case

$$3 = 2 \cdot 3^b - 3^a, \quad 1 = 2 \cdot 3^{b-1} - 3^{a-1}, \quad a=b=1, \quad k=2.$$

(*) Pervenuta alla Segreteria dell'U.M.I. il 25 marzo 1962.

In the second case

$$3 = 3^b - 2 \cdot 3^a, \quad 1 = 3^{b-1} - 2 \cdot 3^{a-1}, \quad a = 1, \quad b = 2, \quad k = 3.$$

PROOF OF II. - Let

$$\frac{n}{6}(n+1)(n+2) = 2^k - 1.$$

Then

$$n^3 + 3n^2 + 2n + 6 = 3 \cdot 2^{k+1}, \quad (n+3)(n^2+2) = 3 \cdot 2^{k+1}.$$

It is evident that $n+3 \geq 4$, $n^2+2 \geq 3$ and that one of the factors of the left-hand side is even and the other is odd.

Because $3 \cdot 2^{k+1}$ can be iniquely represented as the product of odd and even positive integers (both ≥ 3), then $n^2+2 = 3$.

Hence $n = 1$, g.e.d.

PROOF OF III. - Let

$$\frac{n}{6}(n+1)(n+2) = 2^k + 1.$$

Then

$$n^3 + 3n^2 + 2n - 6 = 3 \cdot 2^{k+1}, \quad (n-1)(n^2+4n+6) = 3 \cdot 2^{k+1}.$$

In the same way as in the proof of II we get $n-1 = 1$ or 3 , which is impossible.

REFERENCES

- [1] G. BROWKIN et A. SCHINZEL, *Sur les nombres de Mersenne qui sont triangulaires*, « C. R. Acad. Sci. Paris » 242(1956), p. 1780-1781.
- [2] T. NAGELL, *Solution to problem 2*, « Norsk Matematisk Tidsskrift » 30 (1948), p. 62-64.
- [3] T. NAGELL, *The Diophantine Equation $x^2 + 7 = 2^n$* , « Arkiv för Matematik » 4 (1951), n. 2-3, p. 185-187.
- [4] M. SATYANARAYANA, *A note on Fermat and Mersenne's numbers*, « The Mathematics Student », 26 (1958), p. 177-178.